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OX=HAL Q|22 (20 AE2H)
ZA 758,2009 * 108 7,582 8,424 A842




SN
X XH .
S Tt

el

M- (FH) - NRAY - BES Of] A oH plpsgel: Hluns2
OSUEES AIZ2(5U) (20 A 2)
3 405,0008 * 12¢ 4,860 5,400 A540
OQIEYEHOIX M23M AR
ZH 1,215,0008 = 122 14,580 16,200 A1,620
OQIE Y 3| & 2 (ADSL,GVPN, SDSL ) (= 01 AF & 24
oH) A 408,2009 * 10€ 4,082 4,536 A454
OZ-22F ATNY OI2Z (20 AHE2H)
33X 1,197,0008 * 122 14,364 15,120 NT56
OWEIITS AIBI(20| AR H)
Z A 133,6002 * 10€ 1,336 1,485 A 149
OZd HMEHF(DID)AIZZ (20 AHE 2 H)
33X 243,800  10¥ 2,438 2,709 A2T1
OYLBIAZ AIRE 124,788 143,640 A 18,852
OALY LBHAS SEH2(20AEAN)
ZH 2,736,0008 = 122 32,832 41,040 A8,208
OAIR LUBHAS S5 (20 AEAN)
AX 1,824,0002 * 122 21,888 27,360 N5,472
00ISH3 St (20LE2H)
2 5,506,000 * 128 67,152 72,000 A4,848
ONEANS2(20 AR 2NH)
Z A 243,000 * 12¢ 2,916 3,240 N324
OXEBEH OLB(20AHR2N)
AH 45,4008 * 108 & 454 504 A50
OYBIEG A (24,224, 524 (20
ARE 2E o) 3H 364,5002 * 12¢ 4,374 4,860 ~486
OFEIE S, MA(HAS) (20| A2 H
) FH 254,2002 * 102 2,542 2,825 283
OFESAGIH AIRZ(E13) (20 AE2H)
2 7,425,0008 = 128 89, 100 99,000 A9,900
OFBEASZIS AIR2(512Kbps) (20l ArE 2
oH) A 1,147,5008 = 128 13,770 15,300 A1,530
OFBEASGIAN AR 2(256Kbps) (20l AHE 2t
oH) 33X 1,769,0002 * 10& 17,690 19,656 A 1,966
OFBEASGIA AFR2(128Kbps) (20l A& 2
oH) 3 182,2508 * 12¢ 2,187 2,430 N243
OSHEBOIEA M2IHASS(20MEZ
oH) 23X 810,0008 * 12¢ 9,720 10,800 A1,080
OT-AMEA-ZH BHAG M2 (20
AP 2oH) 33 1,609,9002 * 102 16,099 17,888 A1,789
OZ-ASXS HEXNG ILHMEZ (20 AE
2o 3H 168,7502 * 12¢ 2,025 2,250 A295
OHMAFS ZSHE AMZ2(20AZLNH)
33X 303,7509 * 123 A 3,645 4,050 A405
OALTZI| AIBI (20| AR 2 H)
33X 243,0008 * 12¢ 2,916 3,240 N324
OBAX A, B4 23 A M22(20ME
2o 3 1,012,5002 * 128 12,150 13,500 A 1,350
OZHOIXl SMSAIZZ2 (20 AHE2tH)
2 81,0008 * 122 972 1,080 A 108




SA XX
N Mg

o 1
ool ¥

SA-E . S(E) - MEAY - BES Abou pJE-T =
OSEUS(CATV) =S (20 AE2ZH)
Z& 121,500& « 128 1,458 1,620 A 162
OJIALHE SMABE(20IAE )
2 102,100& = 108 1,021 1,134 A113
OSEUANAAL OB2 (R0 AE2NH)
23 2,160,000& = 123 25,920 32,400 A6,480
OXNABUMS SHUZSEI ABR(20
LA 2HoH) d& 1,275,000& = 123 15,300 18,000 A2,700
401 AIEHIZ 208 89,480 95,000 N5,520
01 Al&H| 89,480 95,000 N5,520
OUESI MOl 2 Saael AL (=0
AHE 20 oH) ZE 74,480,000& = 14 74,480 80,000 A5,520
2018t 2= 919,482 898,203 21,279
= 69, 164 62,489 6,675
S 24,300 19,800 4,500
= 826,018 815,914 10,104
HZHE 2F 790,479 779,329 11,150
= 55,964 49,289 6,675
= 734,515 730,040 4,475
HEAAE EHHl R 272,859 295,859 A23,000
405 XtobE SHI 177,000 200,000 223,000
01 T =SS FH SHI 177,000 200,000 A 23,000
OSEHHY ALY PE(2ULHSA)
Z& 177,000,000& * 14 177,000 200,000 A 23,000
HXN2AM 2 32,11 34,756 AN2,645
201 LEt2 | 32,11 34,756 N2,645
02 35223l 32,111 34,756 N2,645
O[A&EEI= XYl ] 32,11 34,756 N2,645
O&XZM & U2 ALY RXNE= 28,645 31,129 N2,484
0 ALESON (R0 E2t0H)
Z & 184,347,480 * 8.2% 15,117 16,592 A1,475
05 S 201 (=0l 4= 24 %)
Z& 201,900,000& * 6.7% 13,528 14,537 A 1,009
OXNZRELNAAY SNES (20 AL H
) 2 & 40,300,000& * 8.6% 3,466 3,627 A 161
StEEXI2EAAE 2HF 13,824 15,360 A 1,536
201 L&l 13,824 15,360 A 1,536
02 23234l 13,824 15,360 AN 1,536
OBIREN DALY SN S&(Z0ME L)
2 & 192,000,000& * 7.2% 13,824 15,360 AN 1,536
HAEH B 22 247,537 215,537 32,000
405 KHoHESHI 154,400 122,400 32,000
01 MR ESF=H 154,400 122,400 32,000
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M KX 2 A D
o eI S
Cel: MENE 29 (&te: @2
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
OF LY 2 154,400 122,400 32,000
OAEH ZA 1,000,0002 * 83CH 83,000 63,000 20,000
OLCDZ2LIH ZA 300,000 * 5504 16,500 13,500 3,000
OI2lf ZA 900,000 * 5504 49,500 40,500 9,000
Al 29 84,237 94,594 A 10,357
201 LBt Y] 16,604 17,594 A990
01 AFR2t2/H] 15,330 16,320 A990
Ofgetz=2d|] 13,530 14,520 2990
ONHE GIECIAT 2L M2l (=20t
I 2H0H) ZA 3,670,0008 * 3CH 11,010 12,000 A990
405 KHAHE SH 67,633 77,000 N9, 367
01 ML SEFSH| 67,633 77,000 A9,367
OS2 022 AAE A=(20AE2ZN)
ZE 67,633,0008 * 14l 67,633 77,000 A9,367
NP HEMBAAY CSEH DA 16,688 0 16,688
= 6,675 0 6,675
= 10,013 0 10,013
16,688 0 16,688
= 6,675 0 6,675
= 10,013 0 10,013
16,688 0 16,688
CEXH DA
16,688,000 * 14l 16,688 0 16,688
= 6,675 0 6,675
= 10,013 0 10,013
129,003 118,874 10,129
= 13,200 13,200 0
[= 24,300 19,800 4,500
= 91,503 85,874 5,629
EMHOIX 22 30,483 33,354 A2,871
201 LEr2YH| 30,483 33,354 A2,871
02 Z22ZH| 30,483 33,354 A2, 871
OB A|IAE ST B 10,541 13,412 A2,871
ORI (20 AHE 2HH)
ZA 13,440,000 * 7% 941 1,076 A135
OIPS(20atE2t)  AX 380,008 128 4,560 5,880 21,320
OMNBHHEQH =0 A 2H)
2 90,0008 * 12¥ 1,080 1,200 A120
OSAHXE X AAEH (20 AE2ZM)
ZA 140,0008 * 12& 1,680 2,220 A540
Odlgtste (20 AE2ZA)
ZE 190,000 » 12’ 2,280 3,036 AT56
B3N L HBOIALE 2= 20,320 7,320 13,000
[ 4,500 0 4,500
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